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USE CASE

Transition from v1
to v2 Components

Use Case

Customer has a large quantity of threat models
with vl components and wants to upgrade
those to v2 components. Switching these

components directly will remove legacy
content from the model.

Requirements

Customer wants to keep legacy content on the

model, does not want to experience data loss,

and wants to get the new content from the v2
content on the legacy threat models.

Solution

Version all threat models. Add v2 content to v1
components. Compare and true-up v1 and v2
content on legacy threat models.
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